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MASTER OF ARTS (ECONOMICS)

Term-End Examination

June, 2010

MEC-002 : MACRO ECONOMIC ANALYSIS

Time : 3 hours	 Maximum Marks : 100

Note : Answer any two questions from section-A and Five

questions from section-B.

SECTION - A

Answer any two questions from this section in about

500 words each :	 2x20=40
Critically examine the Solow model of economic
growth.

Distinguish between natural, cyclical and
structural types of unemployment. Critically
examine the Keynesian view on unemployment.

Explain equilibrium output and interest rate on
the basis of IS-LM model. How do you derive the
IS and LM curves ?

How is the exchange rate determined under
flexible exchange rate system ? What are the
factors that affect flexible exchange rate ?
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SECTION - B

Answer any five questions from this section in about

250 words each :	 5x12=60

Explain the concept of Phillips Curve. Why is it
vertical in the long run ?

Distinguish between the New classical and New
Keynesian views with respect to price rigidity.

Explain the political business cycle theory of

Kalecki.

What do you understand by real rigidities ? Why
do real rigidities occur in the credit market ?

How does the efficiency wage theory justify the
existence of higher than market-clearing wage
rate ?

Distinguish between the concepts of adaptive
expectations and rational expectations.

Bring out the salient features of the search theory
of unemployment.

Write a short note on the New Classical business

cycle theory.
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